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() Find the value(s) of » so that the quadratic equation 4% — 4x + 37 — 2 = 0 has no real roots.
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(d)  Solve the equation 2* + 64m'> = 0, where  is a real constant.
‘Write your solution(s) in polar form. in terms of 7.
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(@) When the polynomial 2x + px’ + Tx — 3 is divided by x + 3, the remainder is 30.

Find the value of p.
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()  The complex numbers u and vare u=n—iand v=2-3i

Given that %

3+4i_ find the value of n.
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() Solve the following equation for x. in terms of w.

af@—w=5-8Jx
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(d) Find the values of x and y, given that x and y are real, and

‘giving your answers in terms of p. where p is a positive, real constant.
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() 1fz+2i=iz+k, where k isa real number, and ¥ = 2 +2i, where Im(w) =8, find the value of £
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(@)  Find the value(s) of p for which the cquation x~2yx+ p =3 has only one real solution.
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(2) Dividing x° —3x" +bx+9 by (x+2) gives a remainder of 3.

Find the value of b.
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(b)  Solve the equation 2% + 6k + 15K = 0 in terms of real number k.

Give your solution in the form ak +Vbi, where @ and b are rational numbers
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() Solve the equation z* + ki = 0, where k is a real constant.
Give your solution(s) in polar form in terms of k.
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() The polynomial f(x) =° + 3x* + @x + b has the same remainder when divided by (x—2) as it does
when divided by (x + 1)
The polynomial f(x) also has (x + 2) as a factor

Find the values of a and b.
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(b)  Solve the equation x* — 12gx +20g? = 0 for x in terms of ¢, expressing any solutions in their
simplest form.
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(d) Solve the equation 2 = k® + k°i, where k is a real constant.
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(d) Solve the following equation for x in terms of 71.

62x—5=6\2x+m
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() Solve the equation * =i(z — 4).
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(b) Find the value(s) of 7 such that the equation x? + 4rx + 7 = 0 has only one solution.
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(c)  Solve the following equation for x in terms of g.

2Wx-5={ax-¢g
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(2) Given that x—2 is a factor of 2x° + gx* — 17x — 10, find the value of .
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(d) Solve the equation * = —16K*, where  is a real constant.
Give your solutions in polar form in terms of k.
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(a) Solve the equation x® — 4x +
Give your solution in the form a+ Vb1, where @ and b are rational numbers.
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(b) When the polynomial 22 — x2 — 4x + p s divided by x 3, the remainder is 38.

Find the value of p.
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(c) Solve the equation z* + 16p% = 0, where p is real.
Write your solution in polar form, in terms of p.




image26.png
(c) Solve the following equation for x in terms of w.

2Wx—3-wlx=0
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(@) What is the remainder when 2x° — 3x% + 4x + 3 is divided by x — 27
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() Solve the equation 2+vx =vX+ & forx in terms of k.
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(d) Find the exact value(s) of k for which the equation k(1 +x?) =3 — 8x — x* has one repeated
solution.

axb.

Give your solution in the form
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(b)  Solve the equation x* — 6px + 4p? = 0 for x in terms of p, expressing the solution in its
simplest form.
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(c) Solve the equation 7* = —ki, where  is real and positive.

‘Write your solutions in polar form in terms of k.
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(¢) Solve the equation =4 forx in terms of k.
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(©)  Solve the following equation for x in terms of p:

i-2-5vx
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(a) Dividing x*—2x? + 5x+d by (x—3) gives a remainder of 13.

Find the value of d.
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@  Solve the equation z‘:%+%n,wﬁmmsm1mdposmc,

Write your solutions in polar form in terms of 7.
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(b) Solve the equation x*—6x + 14=0.

Give your solution in the form a+V/bi, where @ and b are rational numbers.
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3
@ S22 400 € here 4 B and Care integers.
2 2

Find the values of 4, B, and C.
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@ Solve the equation S--¥ = 3, writing your solution in the form x=a-+b/3.
X
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(b) Dividing 2x° + 5x* + Ax + 7 by x + 3 gives a remainder of 16.

‘What is the value of A7
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() Solve the equation 5—vx =[x—p forx in terms of p.
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(2) Solve the equation x? — 6x + 12=0.

Write your answer in the form @ +/bi, where a and b are rational numbers.
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(c) Solve the equation 2> = 8K, where k is real

‘Write your solutions in polar form in terms of k.
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() Find the value of kif the equation §—x+2v2x+ =0 has equal oots.
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(a) Solve the equation x*—8x+4=0.
Write your answer in the form @+ bve, where a, b, and ¢ are integers and b #1
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() What is the remainder when 2x° + x? — 5x + 7 is divided by x + 37
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(b) For what real value(s) of k does the equation b€+§+2:0 have equal roots?
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(@) Solve the equation z° = k++f3 ki, where k is real and positive.
Write your solutions in polar form in terms of k.
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(€) () Find each of the roots of the equation 2°—1=0.
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(i) Letp be the root in part (i) with the smallest positive argument.

Show that the roots in part (i) can be written as 1. p, p°. p°. p*.
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(a) Given thatx —2 is a factor of g(x) =x° — 2px* + px — 5. find the value of p where p is real.
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() Solve the equation x =33—4x +3.
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(d) Solve the equation —41%1, where ks real
Write your solutions in polar form in terms of k.
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(2) Solve the equation x —4x + 16 =
Give your solutions in the form /b i, where a and b are rational mumbers.
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() For what values of p, where p is real, does the graph of y = px” — 4px + 1 not intersect the
x-axis?
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(2) What is the remainder when x° + 4x? + 3x — 9 is divided by x +2?
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() Find the equation whose roots are three times those of x>+ 9x—12=0.




image58.png
(a) Solve the equation 2+ 6z +20=0.
Express the solutions in the form z = a+/bi, where a and b are integers.
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(©)  Solve the following equation for x in terms of p:
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(d) Find all the solutions of the equation z* + 7= 0, where  is a positive real number.
‘Write your solutions in polar form as expressions in terms of 7.
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(¢) Find the values of & for which the equation 6+ x—4y3x-+k =0 has no real roofs.
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